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. Laboratory studies with a groundwater sample indicate that trichloroethylene (TCE) is degraded according to
pseudo-first-order kinetics with a half-life of 150 days. If the current TCE concentration in groundwater is 15
(1 g/L, how long will it take before the TCE concentration is reduced to the drinking water standard of 5 £ g/L?
(10 %)

. If a wastewater has a soluble orthophosphate concentration of 5.0 mg/L as P, what theoretical amount of ferric
chloride will be required to remove it completely? (10 %) [The gram atomic weights are as follows:
P: 30.97 g/mol; Fe: 55.85 g/mol; Cl: 35.45 g/mol]

. ¥ b T B & P 4 100 mg/L % benzene(CoHg) & 100 mg/L Z phenol(CsHsOH) » & Fpb 5 #475 ety » 3t
& 5 k2 TOC (total organic carbon)fd % % mg/L? (10 %) [C ~ H~ O RF &5 314 &12.01 ~ 1.01 »
16.00 g/mol]
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T HLIB IR B UG L R ATRE AR H 3% ke BB 1x107 cm/sec > %K IE G A48 B F B BUR 30K
KL 230~50 cm > B % H KB R/34i80.002 m'/m’/day > RIF LR ZBERZAT ? EREERL
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C —BALMEHEARE A 450 C 0 RBEBEAERE A 1500 m’/min > 3 HEA PRk R E A 1500 mg/m’ 3R
S —BRAE 22 A K (pulse je)a BIE £ R S F A HEAA AN 15 mg/m’ « (10 %)
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HLAZ, pm 1 5 10 30 >30
M(dp)> % 40 60 80 95 99
FEAB N, % 10 18 35 23 14
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